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DL=22.000 . o o o o o o o . . _ o . . . . _ _ _ DL=20.000 _ _ — — — — — [ [ — — — — —_ —_ — — — —
SP3 c N EC3 c L2 2
B1 -- 2 B1 — 2
GH= 28.450 B2 _ 2 GH= 27.567 B2 0.1 2
FH=28.532 -- 2 FH=27.607 - 2
E 0.1 2 E 0.2 2
- 2 5.6 2
. 2 —— 2
R 0.2 2 R 0.2 2
- 2 0.9 2
— 2 585 4000 894 - 2
2.16 1.79
585 4000 3% =2
‘ _1.50%
1
| 5.1
M 1.50% |
T | |
N
DL=22.000 . o o o o o o o . . o o _ _ . . _ _ _ DL=20.000 _ _ J— J— J— — J— — — — — — — — — — — — —
NO6 c 1.1 2
- B1 -- 2
GH= 28.562 B2 0.1 2
FH=28.664 -- 2
E 0.1 2
- 2
_ 2
R 0.2 2
- 2
_ 2
2.42
585 4000 3.90
5.1
| 1.50% |
TC T — ]
I  — \ ] |
L ]
17
DL=22.000 L o o o o _ . . _ _ _ _ _ _ _ _ _ — —
6375
1:100
23 7 4/ 14
NO6 BC4




DL=20.000

c —— 2
B1 1.5 2
B2 1.1 2
— 2
E _— 2
1.8(1.6) 2
— 2
R 0.4 2
0.9(0.8) 2
_— 2

1.90

NO8
GH=  26.338
FH=  26.748
585 4000 894
‘ 1.50%

BCS
GH=  26.023
FH=  26.054

Cc 0.9 2
B1 0.4 2
B2 0.6 2
. 2
E 0.2 2
1.6 2
— 2
R 0.1 2
0.9 2
- 2
1.93
2.73

DL=20.000 _

[ - 2
B1 1.6 2
B2 1.2 2
_— 2
E _— 2
1.8 2
- 2
R 0.4 2
1.0 2
- 2
1.81

SP4
GH= 26.354
FH=26.774
585 4000 894
‘ 1.50%

]

DL=20.000

NO7+10.50

GH=27.146
FH= 27.303

585

4000

894

c 0.3 2
B1 2.0 2
B2 1.3 2
— 2
E 0.1 2
1.6 2
_— 2
R 0.2 2
0.8 2
_— 2
1.68
1.96

DL=20.000

500 585 4000 894
1.50%
" — T
‘ 0.582
DL=20.000 o o o _ .
EC4 ¢ 08 °
B1 0.6 2
GH= 26.023 B2 0.5 2
FH=26.094 _ 2
E 0.1 2
1.8(1.6) 2
— 2
R 0.1 2
1.0(0.8) 2
- 2
1.95
2.60
‘___;—_pr 500 585 4000 894
%\“T““‘* ‘ 1.50%
\ T S Ry
\Of—

17
6375
1:100
23 8 5/ 14
NO7+10.50 BC5



DL=20.000

IP7
GH=  24.803
FH= 24.954
588 4023

503

c 0.9 2
B1 - 2
B2 1.0 2
0.8 2
E 0.2 2
— 2
—— 2
R 0.2 2
—— 2
__ 2
3.55
3.37

DL=20.000

c 0.7 2
Bl 3.5 2
B2 - 2
—— 2
E 0.2 2
1.3 2
— 2
R 0.2 2
0.5 2
_— 2

2.83

2.78

IP6
GH= 25.210
FH= 25.346
/590 4033 901
i 1.50%
TTII—.‘; F
L —

NO9 c 0.7 2
E—— B1 0.5 2
GH= 25.476 B2 0.4 2
FH=25.581 -- 2

E 0.2 2
1.3 2
- 2

R 0.2 2
0.7 2
. 2
2.45
2.46

585 4000 894

‘ 1.50%

TT f -

L ]

! 0.414

DL=20.000 L . . o o o o . . . _ _ —

EC5 c 1.0 2
_— B1 0.2 2
GH=25.683 B2 0.4 2
FH=25.746 -- 2

E 0.2 2
1.5 2
_ 2

R 0.2 2
0.8 2
_ 2
2.63
2.76

585 4000 894

H 1.50%

i *

. T .

0.447
DL=20.0007 o o - _ _ _ . _ _ P - - _

SP5 ¢ L1 2
E— B1 0.1 2
GH= 25.896 B2 0.6 2
FH=25.900 -- 2

E 0.2 2
1.6 2
. 2
R 0.1 2
0.8 2
_ 2
2.31
2.92
500,585 4000 894
‘ 1.50%
|
o=
DL=20.0007

17
6375
1:100
23 9 6/ 14
SP5 1P7



NO10 ¢ %.0 2 N010+16.30 c 3.0 2
- B1 - 2 - B1 -- 2
GH= 24.255 B2 _ 2 GH=22.949 B2 - 2
FH= 24.138 0.8 2 FH=22.272 0.1 2

E _— 2 E - 2
0.7(1.3) 2 0.8 2
_— 2 __ 2
R 0.1 2 R 0.2 2
0.4(0.7) 2 0.4 2
_— 2 _ 2
2.83 2.74
3.71 2.55
4130 516
896 3234
4000 500
| — T
T -
1.50% ﬂ
J
1500 \EW
DL=18.000 o o o o o . . . . . _ _ DL=18.000 _ — — — — —
BC10(1P9) ¢ 51 SP10 c 9.2 2
Bl -- 2 B1 . 2
CH= 24.433 B2 0.5 2 CH= 24.737 B2 -- 2
FH= 24.470 0.7 2 FH=22.672 0.1 2
E - 2 E - 2
1.0 2 1.3 2
_— 2 _ 2
R 0.1 2 R 0.2 2
0.6 2 0.7 2
_— 2 _ 2
322 627 4290 536 jis zg;
3.3 ] ]
Yos 200 4000 500
]
\ ?T
\
AY
AY
‘ ‘ 1.50% ﬂ
J
DL=18.000 o o o o o o o o . . _ . DL=18.000 _ _ _ . — —

1P8 c 1.0(3.3) 2
— B1 - 2
GH=24.690 B2 0.7 2
FH= 24.781 0.7 2

E 0.2(---) 2
(1.5 2
_— 2
R 0.2(0.1) 2
0.8) 2
_— 2
3.60
4039 505 3.58
1.50%
17
DL:18_0007 _ _ . . S _ - P I - - N
6375
1:100
23 10 7/ 14
1P8 NO10+16.30




EC10 ¢ 6.6 °
I B1 - 2
GH= 21.330 - 2
FH= 20.725 -- 2

E _ 2
1.3 2
4.1 2
R 0.2 2
0.7 2
3.2 2
2.43
1.30
4000 500
1.50%
\uH N :.2
\
\
\
\ - |
\ |
AN L _

DL=17.000 o o _ . _ _ _ _ _ — — — — — —
NO11+1.70 C 9.3 °
— B1 - 2
GH= 24.053 B2 __ 2
FH= 21.633 __ 2

E _ 2
0.9 2
8.0 2
R 0.1 2
0.5 2
6.0 2
2.59
0.44
4000 500
1.50%
\
\
\
\
\
\
\
\ |
\ |
AN J—
DL=17.000 . . o o o . . _ _ _ _ _ — — —
NO11 c 11.6 2
E— B1 - 2
GH= 25.211 82 2
FH= 21.834 -- 2
E _ 2
1.2 2
0.1 2
R 0.1 2
0.6 2
6.8 2
2.58
4000 500 044
1.50%
y ///{ggj// \\\EE{\\\\\\\\\;(LT
A\
\
\
\
\
\
\
\
\ |
\ |
AN —a

DL=17.000

NO12 ¢ .7 ¢
—_— B1 0.8 2
GH= 19.462 B2 -- 2
FH=19.468 -- 2
E _ 2
1.1 2
_ 2
R 0.1 2
0.6 2
_ 2
2.79
4.76
3.2
300585 4862 5797
‘ 1.50%
| T —_—
\\ ‘:H'U —
\\ ;
\ Fl
DL=16.000 - - o o o o . . . _ _ _ — —_
BC11 c 6.3 2
— B1 -- 2
GH=  21.309 5 S
FH=20.610 -- 2
E _ 2
1.1 2
3.8 2
R 0.1 2
0.6 2
2.8 2
2.43
1.36
4000 500
1.50%
N ‘ 5.2
\
\
\
\ é !! |
\ |
DL=16.000 o _ _ . _ _ _ _ _ _ — — — —
17
6375
1:100

11




BC12 c 21 2
— B1 - 2
GH= 17.917 82 S
FH= 17.943 S
E 0.2 2
_— 2
. 2
R 0.2 2
- 2
_— 2
3.81
5.80
6000 1745
17.911
, Yl
|
DL=15.000 o o o o o _ . . _ _ _ J— —
EC11 c 6.8 °
— B1 - 2
GH= 18.232 82 2
FH= 18.350 S
E - 2
1.0 2
. 2
R 0.1 2
0.5 2
_— 2
2.80
5.80
3.0
300585 6000 4302
1.50%
. == ‘ e —
\
\\ il
DL=15.000 o o _ . _ _ _ _ _ _ — — — —
SP11 c 3.9 2
- B1 0.6 2
GH= 19.422 82 2
FH= 29.430 S
E _ 2
1.0 2
_— 2
R 0.1 2
0.6 2
- 2
2.78
4.83
3.2
300585 4933 5652
‘ 1.50%
I!? |
N\ \ES
\\ _'-l
\ I |

DL=15.000

EC12 ¢ 33 2
— B1 -- 2
GH= 17.620 B2 -2
FH= 17.658 -- 2

E 0.3 2
_ 2
_ 2
R 0.2 2
- 2
_ 2
3.88
6.95
611 7192 5498
189 7003
/18.061
/
800
DL=12.000 o o _ . . _ _ _ _

SP12 c 25 2
— B1 -- 2
GH= 17.797 B2 2
FH= 17.798 — 2

E 0.3 2
_ 2
_ 2
R 0.2 2
- 2
_ 2
3.94
6.14
611 6340 2682
275,336
\/17.977
Rl = = — —
L 1 [
DL=12.000 o o _ . . . . _ _
17
6375
1:100
23 12 9/ 14
SP11 EC12




SP13 c 0.6 2
E— BL - 2
GH= 16.239 B2 0.1 2
FH= 16.392 _ 2
E 0.3 2
_ 2
_ 2
R 0.4 2
_ 2
_ 2
3.51
2.40
585 2500
1.50% ‘
| N
O =3
DL=10.0007 . _ P - —_
BC13 c 0.6 2
E— BL - 2
GH= 16.353 B2 0.1 2
FH= 16.559 _ 2
E 0.2 2
. 2
- 2
R 0.4 2
_ 2
. 2
4.53
585 2500 2-40
1.50%
i = ——
LIS —
DL:l0.000ﬁ . _ P - —_
NO13 ¢ 23 2
E— BL - 2
CH= 17.412 B2 -- 2
FH= 17.489 _ 2
E 0.3 2
_ 2
_ 2
R 0.2 2
_ 2
587, 5801 2286 -
W13 5388 3.48
5.33
17.737
——
DL=10_0007 _ . _ P - _

NO14 c 0.7 2
— B1 -- 2
GH= 15.907 B2 - 2
FH=16.088 -- 2
E 0.1 2
__ 2
5.3 2
R 0.1 2
o 2
5.4 2
2.82
0.89
585 4000 500
1.50% E
r{ |
i
\
\ I:_2
\
\
\ ﬁ\
\ |
\ |
DL=10.000 _ _ _ _ — —
EC13 C 0.7 2
- Bl - 2
GH= 15.758 B2 - 2
FH= 16.247 - 2
E 0.2 2
. 2
5.6 2
R 0.2 2
o 2
5.9 2
2.75
0.81
585 4000 500
i 1.500
‘f"tJﬁ ;
\
\ 5.2
| \
Y '_/j\\
\ |
DL=10. 0007 . . _ _ P J—
17
6375
1:100
23 13 10/ 14
NO13 NO14




NO15 c 1.6 °
B1] 1.0 W 2.5 0.1 2
GH= 15.676 B2| W 1.0 -2
FH= 15.694 2
E 0.3 ?
_ 2
- 2
_ 2
R 0.2 2
_ 2
- 2
_ 2
3.01
4.89
5578
4993 2000
1.50%]|
DL=10.000 _ _ . _ _ _
BC15 ¢ 1.5 °
B1]1.0 W 2.5 0.2 ?
GH= 15.746 B2| W 1.0 -2
FH= 15.741 2
E 0.3 2
- 2
_ 2
- 2
R 0.2 2
- 2
_ 2
- 2
5270 3.64
585 4685 3.9
H ?
Hﬁﬂj = ]
DL=10.000

EC14 c 1.5 2
Bl1|1.0 W 2.5 0.2 2
GH=15.779 B2 W 1.0 - 2
FH= 15.795 - 2
E 0.3 2
__ 2
__ 2
- 2
R 0.1 2
__ 2
__ 2
- 2
4.40
4.24
4925
585 4340
‘ 1.50%
i@y “;?ﬁﬁ%?“’
N
DL=10.000 _ _ _ . _ _ _ _
SP14 c 1.3 2
- Bl1|1.0 W 2.5 - 2
GH= 15.810 B2 W 1.0 - 2
FH= 15.868 0.1 2
E 0.3 2
. 2
__ 2
__ 2
R 0.2 2
. 2
__ 2
__ 2
3.47
585 4000 500, 3.90
“ 1.50% 0
\ T ——
—
DL=10.000 _ _ _ . _ _ _ _
BC14 ¢ 0.9 °
- B1|1.0 W 2.5 - 2
GH=15.907 B2 W 1.0 - 2
FH=16.013 - 2
E 0.1 2
. 2
5.2 2
__ 2
R 0.1 2
- 2
5.1 2
__ 2
2.97
585 4000 500 0.93
d
1.50%
g l
c1 H
\ 5.2
\\ "_\\
" _
|
DL=10.000

11 /7 14

BC14

NO15



EC16 c 1.2 2
B1| 1.0 W 2.5 4.0 2
GH= 15.416 B2 W 1.0 - 2
FH=  15.429 12 2
E 0.3 2
_— 2
— 2
6.3 2
R 0.1 2
_ 2
_— 2
8.4 2
3.74
6000 3.43
300585 5415 500
‘ _1.50% E Tl 3000
= —
DL=9.000 o _ o _ o _ _
SP16 c 1.3 ¢
- B1| 1.0 W 2.5 4.4 2
GH= 15.528 B2 W 1.0 - 2
FH= 15.522 12 2
E 0.3 2
_— 2
_— 2
6.8 2
R 0.1 2
_ 2
6000 - 2
2
300|585 5415 500 8.7
3.78
3.45
, 1
| ‘ s : 3000
o ——
L T 1
DL=9.000

BC16 ¢ 1.3 ¢
BL|1.0 W 2.5 4.8 ?
GH= 15.592 B2 W 1.0 . 2
FH= 15.589 1.3 2
E 0.3 2
. 2
e 2
6.4 2
R 0.2 2
— 2
e 2
7.7 2
3.95
6000 3.4
585 5415 500
| L ! f
liar = — 3000
| "J
DL=9.000 - - _ _ _ _ _ _
EC15 ¢ 1.3 2
— BL|1.0 W 2.5 0.4 2
GH= 15.640 B2] W 1.0 0.5 2
FH= 15.628 1.3 2
E 0.3 2
- 2
. 2
4.0 2
R 0.2 2
- 2
6000 - 2
585 5415 500 3.5 2
4.02
3.33
‘ %.50% % TI
Ul i » —] 3000
J, "J | [
DL=9.000 - . . o o _ . .
SP15 C 1.6 2
- B1 0.1 2
GH= 15.684 B2 — 2
FH= 15.685 — 2
E 0.3 2
— 2
- 2
. 2
R 0.2 2
— 2
5635 R
5050 2000 - 2
3.62
4.95
1.50%
DL=9.000

12 /7 14

SP15

EC16



NO17 C 1.3 2
- BL| 1.0 W 2.5 2.2 2
GH= 14.863 B2 W 1.0 . 2
FH= 14.850 0.9 2

E 0.2 2

_ 2

—_ 2

6.2 2

R 0.1 2

_ 2

—_ 2

7.8 2

6000 372 2

500585 5415 6500 3.66
| 3000

M L 1
Ur: i j

Ul ]

DL=8.000 o o o o - o o o

BC17 C 1.0 2
- BL| 1.0 W 2.5 2.7 2
GH= 14.885 B2 W 1.0 . 2
FH= 14.936 0.9 2

E 0.3 2
_ 2
—_ 2
6.1 2
R 0.2 2
6000 -- 2
585 5415 500 -
8.0 2
3.77
3.35
| g 3000
| ‘ 1.50%
I

s ‘ )

DL=8.000 o o B o o o o o

NO16 o 1.1 2
- B1| 1.0 W 2.5 3.7 2
GH= 15.348 B2 W 1.0 - 2
FH= 15.375 12

E 0.3 2
_ 2
_ 2
57 2
6000 R 0.1 2
585 5415 500 -- z
7.7 2
3.92
3.44
‘ 1.500 ﬂ 3000
\ T —
= =
DL=8.000

EC17 c 1.0 2
- Bl1| 1.0 W 2.5 2.1 2
GH= 14.617 B2 W 1.0 . 2
FH=14.609 0.7 2

E 0.3 2
_— 2
— 2
6.1 2
R 0.2 2
— 2
— 2
8.3 2
3.94
6000 > %
585 5415 500
: E i-

| 1 s

l | I i ]

[E,U"f & —

DL=8.000 B B B B B B

SP17 c 1.3 2
- Bl1| 1.0 W 2.5 2.0 2
GH= 14.823 B2 W 1.0 - 2
FH= 14.794 0.8 2

E 0.3 2
_— 2
— 2
6.7 2
R 0.1 2
6000 e
500585 5415 500 8.5 2

3.75

3.71

m ‘ 1.50% ﬂ

DL=8.000

137 14

NO16

EC17



EP+20.00

GH= 14.071
FH=
‘ \i\
DL=7.000 o o o o o o o o o
EP+4.00 C 2.4
— BL| 1.0 W 2.5 2
GH= 14.101 B2 W 1.0 - 2
FH= 14.215 WEEE
E 0.2 2
_ 2
—_ 2
4.3 2
R 0.1 2
6000 S—
2000 _ |585 5415 500 I
6.4 2
5.47
5.31
3000
_7_4'_4-_#-_7—47_4'_4-_#'__#7__#7__#7__#7__#7__#7__#7__#7__#7__##________.__—————————-"""""gﬂ#'——_F§§§;;F§§§%%Ei£fJ — j:q
L T
DL=7.000 o o o o o o o o o
EP c 1.8 2
— BL| 1.0 W 2.5 - 2
GH= 14.278 B2 W 1.0 0.3 2
FH= 14.313 05 2
E 0.3 2
_ 2
_ 2
5.2 2
6000 R 0.2 °2
_ 2
585 5415 500 —
7.1 2
5.57
5.31
\ 3000
i |
TEU‘" ‘ \lW 1*6‘
L 1
DL=7.000 B B B - B B B B B

14 / 14

EP

EP+20.00



